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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 120 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

Illustration:

1. Thesumof20and 12 is

(@ 32 (b)38(c)31(d) 34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

B 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.
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60.

Aaditya can make 50 cakes in 25hours,
Aaditya and Arnav together can make 75
cakes in 15 hours.How many cakes Arnav can
makein 15 hours ?

a. 25
b. 45
c. 20
d. 10

If 7 spiders make 7 webs in 7days, then 1
spider will make 1web in how many days?

a. 1
b. 7/2
c. 7

d. 49

Which of the set of three sides can't form a
triangle?

a. S5cm,6cm,7cm

b. 5cm,8cm, 15¢cm

c. 8cm,15cm, 18 cm

d. 6cm,7cm, 11 cm

A point P lying inside a triangle is equidistant
from the vertices of the triangle. Then the
triangle has Pas its:

a. Centroid

b. Incentre

c¢. Orthocentre
d. Circumcentre

If angles of measure (5y + 62°) and (22° +y)
are supplementary, then value ofy is:

a. 16°
b. 32°
c. &8°
d. 1°
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The chemical name for dioxin is

a) 2,3,7,8-tetrachlorodibenzopara dioxin

b) 2,3,7-trichlorodibenzopara dioxin

¢) 2,3,6,7,8-pentachlorodibenzopara dioxin
d) 2,3,6,8-tetrachlorodibenzopara dioxin

Which one of the following helps to identify the
objects on the earth surface?

a) Atmospheric window

b) Spectral signature

¢) Radiometric error

d) Noneofthese

At what time of the day (in 24 hrs) it's the Dissolved
Oxygen content of a high altitude dystrophic lake
will be (a) highest (b) lowest ?

a) Early morning

b) Latemorning

¢) Evening

d) Afternoon

Number of HCl molecules presentin 10 ml of 0.1 N
HCl solution is

a) 6.022x10"

b) 6.022x10”

c) 6.022x10"

d) 6.022x10”

Which of the following is an Endocrine Disrupting
Chemicals?

a) Phthalate

b) Bisphenol A

¢) Dioxins & furans

d) Alloftheabove

The number of Sulphate ions present in 100 ml of
0.001 M H,SO, solution is

a) 6.023x10"

b) 6.023x10”

c) 6.023x10”

d) 6.023x10"

How many grams of carbon dioxide will be formed
when 100 grams of CH, is burned in oxygen?

a) 122 grams

b) 244 grams

c) 488 grams

d) Noneofthese
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d) 2,3,6,8-tetrachlorodibenzopara dioxin
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A 5.00 mL sample of solution has 2.8 x 10™ g of
calciumions. The ppm concentration is

a) 18ppm

b) 56 ppm

c) 2.8x10" ppm

d) 2.8x10° ppm

What amount of NaCl salt should be added to 100
ml of distilled water to prepare a 70 ppm Cl
solution?

a) 11.68mg

b) 116.88mg

c) 13.56mg

d) 135.67mg

Under which of the flexibility mechanisms as
specified in Kyoto Protocol, Annex-I countries can
assist developing countries towards emissions
reduction

a) IET

b) INDC

c) JI

d) CDM

SO, is analysed at which wavelength on
spectrophotometer using West and Gaeke method
a) 560nm

b) 564nm

¢) 540nm

d) 545nm

In terms of their establishment which one is in the
right chronological order?

a) IPCC, UNFCC, Kyoto Protocol, Montreal
Protocol

Montreal Protocol, IPCC, UNFCC, Kyoto
Protocol

IPCC, Montreal Protocol, UNFCC, Kyoto
Protocol

UNFCC, IPCC, Montreal Protocol, Kyoto
Protocol

b)

©)

d)

Which one is secondary mineral present in Soil
a) Quartz

b) Montmorrilonite

¢) Plagioclase Feldspar

d) Biotite
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Which of the following instrument is used for non-
destructive chemical analysis?

a) Flame photometer

b) X-ray Fluorescence

¢) High pressure liquid chromatography

d) Atomicabsorption spectrophotometer

Aluminum ions would be liberated from soil if the
pH of water is

a) pHisdecreased

b) pHisincreased

c) Alkaliisadded

d) Norelation with pH

Glaciation forms by of'snow.
a) burial and metamorphism of snow

b) melting and refreezing

¢) erosion and deposition

d) precipitation and melting

Which state of India has largest installations of solar
power?

a) MadhyaPradesh

b) Gujrat

¢) Rajasthan

d) Tamil Nadu

Identify the odd combination of the habitat and the
particular animal concerned

a) Sunderbans—Bengal Tiger

b) Periyar—Elephant

¢) RannofKutch—WildAss

d) Dachigam National Park—Tiger

Which of the following is the correctly matched pair
ofan endangered animal and the national park?

a) Great Indian Bustard — Keoladeo National Park
b) Lion—Corbett National Park

¢) Rhinoceros—Kaziranga National Park

d) Wild Ass—Dudwa National Park

A solution of pH=3 has higher H™ concentration
than that of'a solution of pH=6 by

a) 3times

b) 30times

c) 100 times

d) 1000 times
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What is the basis of identifying biomes on the earth?
a) Animals

b) Plants

c) Fish

d) Buffalo

Which of the following comment is best suited for
intersexual selection

a) Female should be choosy

b) Male should be competitive

¢) Maleshouldbe fertile

d) Females don't take part in sexual selection

The population of India is 15% of the world but its
annual energy consumption is only

a) 0.2%

b) 2.0%

c) 10%

d) 25%

In the air, N, and O, occur naturally but they do not
react to form oxides of nitrogen because

a) oxidesof nitrogen are unstable

b) catalystisrequired for the reaction

¢) thereactionisendothermic

d) N,andO,donotreact with each other

Which are the two forces balanced by the
geostrophic wind?

a) Coriolis effect and pressure gradient force

b) Coriolis force and centrifugal force

c) Frictional force and pressure gradient force

d) Pressure gradient force and centrifugal force

What does the term obliquity indicate?

a) Earth'saxialtiltof23.5 degrees

b) Alignmentofthe Earth's internal magnetic field
¢) Analysisof ocean currents

d) Pressure variation over different seasons

How does atmospheric pressure vary with increase

in altitude?

a) Itdecreases linearly

b) Itdecreases exponentially

¢) Itincreases linearly

d) It increases till stratosphere and then starts
decreasing exponentially
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In which year the "project tiger" is launched in
India?

a) 1973

b) 1983

c) 1993

d) 1972

A dim, "watery" sun visible through a gray sheet-
like cloud layer is often a good indication of
clouds.

a) Stratocumulus

b) Cirrostratus

¢) Cumulonimbus

d) Altostratus

As the air temperature increases, with no addition of
water vapor to the air, the dew point will:

a) Remainthe same

b) Increase

c) Decrease

d) Increaseandbecome equal to the air temperature

The unit of total water content of the soil is
known9as

a) Holard

b) Chraserd

¢) Echard

d) Alloftheabove

Infrared and visible satellite images might provide:
a) A way of determining cloud thickness and
altitude.

A way of distinguishing between wet and dry
clouds.

A way of identifying clouds suitable for cloud
seeding.

A way of distinguishing between "new" and
"old" clouds.

b)

¢)

d)

Fog that most often forms as warm rain falls into a
cold layer of surface air is called:

a) Radiation fog

b) Evaporation (mixing) fog

c) Advectionfog

d) Upslope fog

A term biotype means

a) allindividuals having same phenotype
b) allindividuals having same genotype
¢) allindividual with different phenotype
d) allindividuals with different genotype

24

88.

89.

920

91

92

93

94

%mﬁﬁﬁqaﬁ"ma@wﬁa%mw

?

a) 1973

b) 1983

c) 1993

d) 1972

(L3 e Sl 916 WRd & HIHwH 9
S+ aTelT U He, "UTHIarer” R
qIcel HT1UP ABTHBAgIATg |

) 'Qélaqqaq

;) RRIReT

<) Wﬁilﬁﬁlﬂ

d) 3MeeReeH

S-S 91 BT dTYHTH dedl g, g9T § STerarsq

T8l o<, 3w faig e

a) UdH gIIR, O YTIA §I e

b) SEIRt

c) HHl
d) ¢! 3R AT dTUH P SRTaR gl ST3i

R LA AN Bl G EE A FE IR
a) é’l?l'lé

b)

)

d) SWH I

%?Wﬁsaﬁ?mwmmﬁammm

a) dIed Bl HICTS 3R SHars RuiRa s &1
rcanricall

b) a3 gQ FIeal & S W FA BT
Gricall

B SN R TH quf & FaAg! 9y B St
wd § IR ¥ ¥ § 99a1 ®, Feardr g

a) fafevureigsT

b) aTSdiehRoT (Rygion) igr
) agaPIgRI

d) SWHI AR B

e 'IHACTSY HI3S 7

a) THTH bAlergy ara gt safaa

b) UM SHIegy ara 9+ aafaa

) SIERT-3AT Bersy ara Iy aafad
d) faftrsiFiesuaa Iy safa



95.

96.

97.

98.

99.

The deepest radiation inversion would be observed:
a) Atthe equator any day of the year

b) Inpolarregions in winter

c) Atthetop ofa high mountain in winter

d) Onadesertinwinter

Warming in the stratosphere is mainly caused by:

a) Absorption of ultraviolet radiation by ozone

b) Release oflatent heat energy during condensation

¢) Chemical reactions between ozone and
chlorofluorocarbons

d) Frictional heating caused by meteorites

Which of the following is least likely to be an effect
of global warming?

a) Increased frequency of hurricanes

b) Lossoffertile deltaregions for agriculture

¢) Decreased rate of photosynthesis in vegetation
d) Change in global patterns of precipitation

Mass spectrometers are used to determine which of
the following?

a) Compositionin sample

b) Concentration of elements in sample

¢) Relative mass ofatoms

d) Properties of sample

In chromatogram, the area under the peak can be
used to determine which of the following?

a) Components of the sample

b) Amount of componentin the sample

¢) Column efficiency

d) Columnresolution

100.In which of the following type of paper,

chromatography does the mobile phase move
horizontally over a circular sheet of paper?

a) Ascending paper chromatography

b) Descending paper chromatography

¢) Radial paper chromatography

d) Ascending—descending chromatography

101.What happens during the 'elution from the column'

phase in chromatography?

a) Components with greatest affinity elute first

b) Components with least affinity elute first

¢) Components elute in a random manner

d) Components elute according to their
concentration in the mixture
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102.ICP's principle is similar to which of the following?
a) Flame emission spectroscopy
b) Fourier transforms spectroscopy
c) Atomic emission spectroscopy
d) Absorption spectroscopy

103.Which of the following air pollution control device
has maximum efficiency?
a) Spray tower
b) Wetcyclonic scrubber
¢) Dynamic precipitator
d) Electrostatic precipitator

104.Which type of Quantum Transition takes place in
Ultraviolet and Visible spectroscopy?
a) Rotation of molecules
b) Nuclear
¢) Bondingelectrons
d) Spinofnucleiinamagneticfield

105.What is the unit of molar absorptivity or
absorptivity which is used to determine absorbance
Ain Beer Lambert's formula?
a) Lmol'cm’
b) Lgm'cm’
c) gm'cm’
d) Cm

106.Which of the following detectors is used to detect
light intensities which are very weak?
a) Photomultiplier tube
b) Photovoltaic cell
¢) Photoemissive tubes
d) Photoreflector

107.1f the probability that an object dropped from a
certain height will strike the ground is 80 percent
and if 12 objects are dropped from the same place,
find the mean and variance.

a) 9.6,1.92
b) 8.6,1.92
c) 9.6,1.82
d) 8.6,1.82

108.Binomial Distribution is a
a) Continuous distribution
b) Discrete distribution
¢) Irregular distribution
d) NotaProbability distribution
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109.1f the probability of hitting a target is 0.4, what will
be value of mean and variance
a) 0.6,0.28
b) 0.6,0.24
c) 0.8,0.22
d) 0.8,0.20

110.If a hypothesis is rejected at 0.6 Level of
Significance then ?
a) itwill berejected atany level
b) itmustberejectedat0.5 level
¢) itmayberejectedat(.5 level
d) it cannot be rejected at 0.5 level

111.In a Poisson Distribution, if 'n' is the number of
trials and 'p' is the probability of success, then the
mean value is given by?
a) m=np
b) m=(np)
¢) m=np(l-p)
d) m=p

112.Find the mean, mode and median of the given sets
of data: 5,8,12,17,12,14,6,8, 12, and 10
a) 11,12,10
b) 10,12,13
c) 11,12,13
d) 10,12,11

113.Find the variance of the given data sets 7, 47, 8, 42,
47,95,42,96,3
a) 1028.78
b) 1018.78
c) 1029.78
d) 1019.78

114.In which of the following the direction of Ocean
currents are reversed with season ?
a) Inthe Pacific Ocean
b) IntheAtlantic Ocean
¢) IntheIndian Ocean
d) IntheArctic Ocean

115.Which one of the following is not the part of North
Atlantic Ocean current system ?
a) GulfStream
b) Antilles Current
¢) Canaries Current
d) Benguela Current
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1097fe fHdt @1&T A THIA B UIRABAT1 0.4 8, oY
HI 3R TR 3T
a) 0.6,0.28
b) 0.6,0.24
) 0.8,0.22
d) 0.8,0.20

1104f¢ T URSHUAT & Agd & 0.6 TR W
PR PR fegrwrarg @t
a) =9 P i T was &= fearsmem
b) 31 0.5 % wR W WIS frar AT anfee
¢) SU0.5P TR WA fParsTasdig
d) %ﬁo.s%wwmﬂﬁm\mm

111T® UigaA faavur & afe 'n' wieon &1 S=
2 SR 'p' ABAAT B WU B, df HTeqW=
frad grifearsirans?
a) m=np
b) m=(np)’
¢) m=np(l-p)
d) m=p

112f3u U STl &
3R AT 1
5,8,12,17,12,14,6,8, 12
a) 11,12,10
b) 10,12,13
o 11,12,13
d) 10,12,11

113f3Q 71T ST AT BT YR J1d HHY |
7,47,8,42,47,95,42,96,3
a) 1028.78
b) 1018.78
¢ 1029.78
d) 1019.78

1afrafaRad # 4 fow # agranRiy urisi $1
fe=mBg b Ay IAC N 87

DT 7T, Igcidh
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115 fafad 7 @ 19 3w srcdifes AgRR
P ada Yo BT R AE 87
a) eI

b) T

C) MW
d) SEAT®HE



116.
a)
b)
©)
d)

Which of the most stable ecosystem ?
Ocean

Mountain

Forest

Desert

117.The bottom area where production is less than
respiration in a pond ecosystem is termed as
a) Profundal zone
b) Tidal zone
c) Benthiczone
d) Limnetic zone

118.Allelopathy refers to

a) Inhibition of growth of one species by another
by the production of toxins
Inhibition of sporulation of pathogen by the
host
Altering the reproductive cycle of one organism
by another
Inhibition of growth of one species by another
by preventing reproduction

b)
c)

d)

119.0f the following, the rock that is most resistant to
both chemical and mechanical weathering is:
a) shale
b) limestone
c) marble
d) quartzite

120.According to the principle of uniformatarianism,

a) geologic processes we observe today have
operated in the past
geologic process in the past operated at the
same rate as they do today
all of the planets formed from a uniform solar
nebula
early Earth was covered by a uniform magma
ocean

b)

c)

d)
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a) HeNHR
b) Tdd

c) Sd

d)

117f3=ren &= wigi araTd & uTiyd = § Sure 49+
AFAGIAIS, PealdTs

b) SR &=
) % &=
fafes =
118Uaatf deRfaseare

a) fauTed uerdf & IdTeH §RT TS USIifd &1
USlTfa & faeTa A $d1ac
b) gRT INNEF & WA BT

0|
¢) U® Siid & Yo 9 Bl gax oild gRT

CLSE
d) U P AHPI T FoATd Pt gast
welTfal & fapra &1 ApAT

1ofufafea § 9, 95 9g@ <t IRmafe IR
Tifa® 3ruera Il & fore o 3rfire ufasidh
2@
a) shale
b) limestone
c) marble
d) quartzite

120UHFUATAIE (uniformatarianism) P RIGId &
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b) 3rcita # Y uftrar 39t @ A Tenferd
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